Chapter 18 Homework #3: LaChatelier Practice

1. List the three stresses you can place on a reaction

2. What state of matter is the only state affected by a change in pressure? Why?

3.  If pressure is increased by reducing the size of the container, what side will be favored in response to this stress?

4. If pressure is reduced by increasing the size of the container, what side will be favored in response to this stress?

5.  Why does a change in temperature change the value of K?
6.  
a. Use an arrow (→, ←, no effect) to indicate the response to the following stresses
b. state the effect on K

N2(g)  + 3H2(g)  ↔  2NH3(g)     ∆H = +43.2 kJ/mol

1. nitrogen is selectively removed

2. hydrogen is added

3. the container size is reduced

4. the temperature is raised 10oC

5. ammonia is added

CaCO3(s) ↔ CaO(s)  + O2(g)     ∆H = -143.8 kJ/mol

1. 5.0 grams of calcium carbonate is removed

2. the size of the container is enlarged

3. more oxygen is pumped into container

4. the temperature of the container is decreased 10oC

5. calcium oxide is added

H2(g) + I2(g) ↔ 2HI(g)          ∆H = +52.9 kJ/mol

1. hydrogen is removed from container

2. size of the container is reduced

3. the temperature of the container is raised 5oC

4. hydrogen iodide is added

Bill is working in a factory that wants to maximize the production of   iodinetrichloride.  


I2(s)   +  3Cl2(g)  →   2ICl3(g)      ∆H = + 23.4 kJ/mol
What conditions would maximize the production of this gas?  Explain your answer

a. 150oC and 1.2 atm

b. 75oC and 7.5 atm

c. 75oC and 1.5 atm

d. 150oC and 7.5 atm

